= A
N = 0] &F AF S & AN A
20228 = 20l A LB H ORI
EXN: FEHL
HE: NALHEE
el XS ERII £4 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
rag=-l R=1ani: 21,144,092 18,353,998 2,790,094
= 139,000
g 6,150,000
& 641,000
= 14,214,092
NSRS 10,383,750 11,880,014 N 1,496,264
= 139,000
g 2,665,000
& 60,000
= 7,519,750
XFetdI|IeE XM 10,383,750 11,880,014 N 1,496,264
= 139,000
g 2,665,000
o= 60,000
= 7,519,750
EXNNEX TR 2,200,000 0 2,200,000
hag 2,000,000
= 200,000
401 Al HI L E0HHI 2,200,000 0 2,200,000
g 2,000,000
= 200,000
01 A& H| 2,200,000 0 2,200,000
OEXNHEZ=XF 2,200,000
oy 2,000,000
= 200,000
H=0I2 ALY 105,000 105,000 0
& 60,000
= 45,000
307 2iz2to| & 15,000 15,000 0
o= 15,000
02 QIZFAAAIE E X 15,000 15,000 0
OH=20IS AP (1EHH) 5,000,000& = 3JH A 15,000
= 15,000
402 SI2F X0l & 90,000 90,000 0
& 45,000
= 45,000
02 CIZEXIE AL E X (0| &M THE) 90,000 90,000 0
Qa=0tSAFY (2CHH) 30,000,000 * 3 90,000
= 45,000
= 45,000
FOHEEIE AJAIE ZHEAY 1,330,000 250,000 1,080,000
= 665,000
= 665,000
401 AlEHIZL 201 Y| 1,330,000 250,000 1,080,000
= 665,000
= 665,000
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ORI
M XHLHAE
G Xge™I|IEr X4 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 1,330,000 250,000 1,080,000
OFHEEIR XNSAE ZLHAY 1,330,000
Fag 665,000
= 665,000
2 ZH(BX) 139,000 1,548,000 A 1,409,000
= 139,000
401 AlEHIZ 2 0HY| 139,000 1,548,000 A 1,409,000
= 139,000
01 Al& B 139,000 1,548,000 A 1,409,000
Oosxee =4 139,000
= 139,000
stdde 29 22 100,000 0 100,000
201 et 9| 20,000 0 20,000
02 E32%H| 20,000 0 20,000
OAA L ZH SA(HAMEH) 15,000
OAlE &L HH SXOtH & Z2HZE) 5,000
307 QI2t0| ™ 50,000 0 50,000
05 QIZtREZ 50,000 0 50,000
O2x o AEEY I3 T2 29 50,000
405 XHA&HF S HI 30,000 0 30,000
01 XA 2 ZF S| 30,000 0 30,000
oY JIXMM 7 30,000
DAOILISEEI2 ZAAMYE 6,509,750 0 6,509,750
401 AlEHIZL £ 0HY| 6,509,750 0 6,509,750
01 Al&H| 6,509,750 0 6,509,750
OZ2Z2A4 SX0HY 6,509,750
FOIHOI S A XEIHLAS 21,516 21,516 0
o8UAE XN HIY 21,516 21,516 0
NEed =X 6,516 6,516 0
202 04| 5,616 5,616 0
01 2Ll 5,616 5,616 0
OXeHY ML =& 5,616
203 €2 F=&d| 900 900 0
03 Al ZH =X 2= XIH| 900 900 0
OXLHYMAIH 7 900
Z20E FH| 15,000 15,000 0
301 et X = 15,000 15,000 0
12 JIEtE A& =2 15,000 15,000 0
Osgs 0 =28 AA 15,000
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2N

zEHe
Hu: CASY T4
el XA TAHY X4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Wats TATHY LA 5,006,000 3,900,000 1,106,000
s 2,285,000
< 381,000
s 2,340,000
202 O4dl 3,000 6,000 A 3,000
01 = LH 4 Hi 3,000 6,000 A 3,000
OuUME TAMY mEAY g2 =3 3,000
307 glz2+ol & 120,000 100,000 20,000
03 QIAHMNHE2IHIEE 120,000 100,000 20,000
OWetE AN FEXNAME 2| 120,000
401 AIEHI L 20 4,873,000 0 4,873,000
s 2,285,000
< 381,000
= 2,207,000
01 A& Hl 4,073,000 0 4,073,000
OUdE TAMM S A 4,073,000
s 1,805,000
< 301,000
i 1,967,000
02 2feldl 800,000 0 800,000
Outts ZAMM=E A Zeldl 800,000
s 480,000
< 80,000
s 240,000
402 RI2EX20| M 10,000 20,000 A 10,000
01 2I2F 2 A E = (REMTH ) 10,000 20,000 A 10,000
Outts ZAHY FEXNJAHH 2SXA 10,000
HEH AN =LA 2,000,000 150,000 1,850,000
s 1,200,000
< 200,000
s 600,000
202 O4dl 3,000 0 3,000
01 = LH 4 Hi 3,000 0 3,000
OFEE ZTAHYEEANY g2 =2 3,000
207 RO 20,000 0 20,000
s 12,000
< 2,000
[ 6,000
01 A3 39 20,000 0 20,000
OHEH TAMYE=EAMNS 20,000
s 12,000
< 2,000
s 6,000
307 gl2tol & 100,000 50,000 50,000




EXN: FEHL
Hu: CASY T4
el BEE CAHY ZA (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
03 QIZI X EHESIEHIEX 100,000 50,000 50,000
OFAMH A SHXFHEH 29 NS 100,000
401 Al HI L £ 0HHI 1,847,000 100,000 1,747,000
g 1,188,000
& 198,000
= 461,000
01 Al& H| 1,847,000 100,000 1,747,000
OFFH ST A MM ALY 1,847,000
Fag 1,188,000
o=t 198,000
= 461,000
402 RI2H X201 M 30,000 0 30,000
01 SIZEXIEANYEXR (MMM E) 30,000 0 30,000
OFAEH A SHIJEH 2SN 30,000
TAINRE 23 L SNBL 20,000 20,000 0
401 AlEHIZ £ 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OEAIZS AFAX 20,000
TAIFYE 2 FHNHE JNEXNP E2FH| 975,000 231, 743,344
401 Al HI L £ 0HHI 975,000 231, 743,344
01 Al& b 975,000 230, 745,000
OEAXNY ME0IJ oA 60,000
OEANTY Y FTHIHLAIEXNT T 2ES 20,000
OXE =M 500,000
OEANHEEZEZ BEE=HH| 30,000
OFEEH S AIHEEZZ2HY| 365,000
DE22X BE42 X2 240,000 447 , A 207,000
401 Al HI YL 2 THYI 240,000 447, 207,000
01 Al& H| 240,000 447, A 207,000
OEAHEAALE OISESA B4 240,000
NEHOISAIE HH] 250,000 100, 150,000
401 Al HI L 204 HI 250,000 100, 150,000
01 Al&H| 250,000 100, 150,000
ONEHNER FRES 200,000
O N~2LEaA NEHEZINE AANEHESE 30,000
OnsEn ANAEANEHEIE A=A 20,000
ANEHOIE 2435 37,200 37,200 0
201 LBt 37,200 37,200 0
01 AP 22| H| 8,000 8,000 0




A FEMHLL
Hu: CASY T4
el XA TAHY X4 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O35 BEa=a
100,000& = 4044 = 203l 8,000
02 =224l 29,200 29,200 0
Oolstd erard MI|IQ=a  500,0008 * 128 6,000
ONENUNHA: HIIRS 100,000& » 12& 1,200
O=2 THENEH It 550& * 40,000 22,000
ot sy ¥ B4 1,000,000 302, 160 697,840
401 Al HIZ 2018 1,000,000 302,160 697,840
01 A& HI 1,000,000 300,000 700,000
OgdueEsd 1,000,000
arg Je=E XUSSAY 500,000 0 500,000
401 AIEHI L 2 CHYI 500,000 0 500,000
01 A& HI 500,000 0 500,000
On¢ts Jel=e XNSsHAY 500,000
AJ0IEY ZAHEAL 70,000 0 70,000
401 Al HI K 201 I 70,000 0 70,000
01 A& Hl 70,000 0 70,000
OFIINEY ZAHHAHA 70,000
MESH ALY 43,500 0 43,500
401 A& HIZ 201 I 43,500 0 43,500
01 A& HI 43,500 0 43,500
O¢E 22 TAHEZZZHIZSA 20,000
OFet sU2 #2222 ZZ A4 FHIAMY 20,000
OO SUIS MEBSH HAANY AALHE
1,750,000 * 14 1,750
OHZE E2 MEa=H HAANY dALEHEY
1,750,000& * 14 1,750
FHEZ A 358,540 569,725 A 211,185
WHE FHEE =4 358,540 569,725 A211,185
A=AE 2F 238,540 232,125 6,415
201 Let24d] 223,060 217,860 5,200
01 At 2teltl 223,060 217,860 5,200
ORM3E AlIEE ARHEIN ¢ 1,200
OABAS AR (H+22
150,000& * 1,400 210,000
OAH=RAs &= 70,0008 * 208 » 43 5,600
OZESZURYNMASIAE BHLY
70,000& * 99 « 23] 1,260
OH=HE2YE M= ZHI 5,000
202 04l 14,580 13,365 1,215
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